
Instruction Manual

Slim-Tilt
TV WALL MOUNT 

trusted excellence

max
30kgs/66lbs32”-55” Max 400X400

LX400



STEP-1

STEP-2a

Note: please read the instructions carefully before installation!

Step 1:

Use the wall plate as a template to

drill four holes of dia. 8mm and 

50mm depth in the wall. Then wedge 

four plastic anchors into the holes. 

Step 2a:

Install the wall plate. Put the wall

plate on the wall, and then screw 

four self-tap screws into each plastic 

anchor through metal washer to fix 

the wall plate onto the wall.

LX400 INSTALLATION INSTRUCTION

B
A

B

WALL

Step 4:

Hanging the TV onto the wall 

plate, relax the hands until they 

are caught hold of.

STEP-4

WALL

TV

-10°

Step 5:

There is a pull-rope on each monitor bracket. 

Push the two monitor bracket together with the 

panel TV toward the wall at the same time, 

confirm is locked.Pull down the pull-rope 

when take down the TV.

STEP-5

WALL

TV

-10°

STEP-3 Step 3:

Install the bracket rail onto the back of

the TV. Select suitable screws from the 

screw package according to the size of 

the holes in the back of TV. Fix the two

hanging arms onto the back of TV by

screws into the holes.Make sure equal

height of the two hanging arms.TV
E/F/G

C
D

STEP-2b Step 2b:

Install the wall panels. Place the wall panel

on the wall, and then screw the four

self-tapping screws into the wall with metal

washers to fix the wall panel to the wall.

A

50mm
2.4

4.5mm

(C) Square Washer (4) (D) 15mm Plastic Sleeve (4) 

(E) M6x30 screws (4) (F) M8x30 screws (4)(G) M8x50 screws (4)

(A) M6x50 Self-tap Screw (4) (B) 8x40 Plastic Anchor (4)

(H) Bubble Level (1)

THANK YOU for choosing TEXONIC.

www.texonic.ca

        We hope that you are happy with your purchase.
if you enjoy our service & product, please leave us a review.

Much appreciated!


